st-key-match®2?

st-key-match(tab;k;ks)
=4ef Case k1 of
inl(n) = Case kg of
inl(m) = falsey
inr(a) = n<aptr(tab) Ag n<a|tab|| Az st-atom(tab;n) =al a
inr(a) = Case ko of
inl(n) = n<aptr(tadb) Ag n<sl|/tab|| Az st-atom(tab;n) =al a
inr(b) = false,

clarification:

st-key-match(tab;k;ks)
=4ef Case k1 of
inl(n) = Case kg of
inl(m) = falsey
inr(a) = n<aoptr(tab) NAg n<sl||tab|| A2 eq-atoml(st-atom(tab;n);a)
inr(a) = Case ks of
inl(n) = n<aptr(tadb) Ae n<sl|/tab|| A2 eq-atoml(st-atom(tab;n);a)
inr(b) = false,
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